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MCOM-06
June - Examination 2018
M. Com (Final) Examination
Managerial Economics
Paper - MCOM-06
Time : 3 Hours ] [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.
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Section - A 8§xX2=16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.
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1) (i) What do you mean by the concept of scarcity?
QoA &1 YRV A JATUDT T T & ?
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(i) How would you define derived demand? Give example.

T AT DI MY H¥ IRATIT ¥l ? IR0 Giom|

(iif) How would you calculate the personal disposable Income
(PDI)? Give formula.

Fafdas Td AW AT Y 3T B TFT T 2 [ Gifor|

(iv) What message you get from the kinked demand curve?

fagpfera A1 a6 | 3MMUDT FIT F U gill g 2

(v) Which goods are known as giffen goods?

fopT gt 1 FIthI aegll & M | ST ST & 2

(vi) Distinguish between short -term and long - term production
function.

IR 3R SrEfpTof IUTeT e H 3N HIfTU|

(vii) Explain cross elasticity of demand.

qrT IR o a1 s hifvul

(viii) How would you define explicit costs?

TISE ATl T 3T hed IRYTT e ?

Section - B 4X8=32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.

yusg -
(oTg IR 99 )

fFder: gl IR Ul & IR U 3T o IR BI 31y

200 greai § gRAHT BRI Td® U9 8 3t @

2) Explain various degrees of price elasticity of demand.

1T Y HHd A HF I SRt @ Tase HifvTu)
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How are price and output determined under monopoly in
short-run? Give diagrams.

THTIIBR &b =T Tl H HhiFd 3R Icure T b fHerfor
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What are the main problems in computing national Income?
Explain

SR 3T Y T § P — PRI TN & ? TS DTy

Throw light on the characteristics of Managerial Economics.

Ug-HehIT IS Sl fIATATR TR Yh19T SIferv|

Explain the relationship between average total cost and
marginal cost. Give illustration and diagram in support of your
answer.
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Why demand forecasting is needed for modern businesses?
Give reasons.

MY I DY JIT YA DT a1 AGLIDB Bicll ¢ ? b
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Explain the ‘Opportunity Cost Principle’ and its relevance.

‘3R T Rigled’ 31 gddh! ggar &l qHsIsu|

What are the main drawbacks of Keynesian theory of
employment?

Il & AR RAGFT T DI I&T HHAAMNAT g 2
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Section-C 2X16=32
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries

16 marks.
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10) Critically examine the Keynesian theory of business cycle.

ol & IR Th RIGd DT AT D TRI&I0T DI

11) How a monopolistic competitive firm attains equilibrium in
short run and long run? Give suitable diagrams in support of
your answer.
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12) Distinguish between prime costs and supplementary costs.
Also explain how this distinction helps in business decision
making?
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13) Write short note on any two of the following:
fifehe # & fobegl &1 R o7y feouolt fefRay|
(i) Equi - Marginal Principle / - g
(i) Social Accounting Method / TR oigia fafer
(iii) Profit Planning / @19 RIS
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